Lesson 2 2. Ashton has £5 and 75p in his pocket.

Walt: Subtract money

S2S: |

e know that there are 100p in £1

e can exchange pence for pounds %

e can use different methods to subtract money =

He puts £2 and S0p In his money box.
1. Complete the part whole models P P y

How much Is left In his pocket?

Whitney has £4 ond 30p.
she buys this palr of socks.

How much money does Whitney have left?

4. Complete the statements

a) £2 ond &5p — £5 and 25p = £ and p

b} £2 ond &5p - £5 and &5p = £ and p

) £3 ond &5p - £8 and 30p = £ and p

5. Complete the number sentences

000885

and p
b) £3 - £1 and S0p = £ and p
¢) £6 and 15p - £2 ond 85p = £ and p
d) £8 and 7p - £2 and 54p = £ and b
6. Complete the bar models

a) b)

£8 and 93p £9 and 15p

£8 and 9ep B2p




